
Welcome to College Algebra

We have seen the 4 basic operations to combine numbers
Addition:

Example: 3 + 4 = 7
Commutative Property of Addition: For any numbers A, B

A + B = B + A
Associate Property of Addition: For A, B, andC

(A + B) + C = A + (B + C)
0 is the Additive Identity: For any number A

A + 0 = A = 0 + A
Subtraction:

Example: 7 − 4 = 3
We can understand Subtraction as Addition of negatives
Example: 7 − 4 = 7 + (−4) = 3
This allows us to use all the properties of Addition, which we
don’t have for Subtraction
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We have seen the 4 basic operations to combine numbers
Addition

Subtraction
Multiplication:

Example: 4 · 3 = 12
Commutative Property of Multiplication: For any A, B

A · B = B · A
Associative Property of Multiplication: For A, B, andC

(A · B) · C = A · (B · C)
1 is the Multiplicative Identity: For any number A

A · 1 = A = 1 · A
Division:

Example: 12 ÷ 4 = 3
We can understand Division as Multiplication of reciprocals
Example: 12 ÷ 4 = 12 · 1

4 = 3
In general, we can change division into multiplication by the
reciprocal which allows us to use all the properties of
Multiplication, which we don’t have for Division
Example: 24 ÷ 3

5 = 24 · 5
3 = 40
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